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Aufgabe 7-1

Let:

» M; = model (= set of medoids) after the ith iteration
» TD(M;) = cost of model M;.

PAM does not converge when

Vie N: TD(M;) > TD(M;4,)
There are (}) possible models, but N iterations.

= I <M, =M,

= TD(M,,) = TD(M,,)

contradiction!
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< single-linkage dendrogram cut at distance ¢.
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DBSCAN with minPts =2

< single-linkage dendrogram cut at distance ¢.

DBSCAN is O(n?) (with index: O(nlogn) only)
but this is for a single ¢ only.

DBSCAN and
Single-Link

OPTICS (next week) with minPts = 2 is similar to SLINK
(efficient algorithm for single-linkage clustering in O(n?))

However, results are generally better with larger minPts!
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